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PART-l
Answer any three of the following guestions
Q.1Explain the concept of spill over Benefit and Cost with the help of Diagram.
Q.2 Make a comparison between private cost-benefit and public cost-benefit
Q.3 What is public expenditure ? Discuss the causes of increasing in public expenditure
Q.4 Describe the effects of public expenditure on production, employment and distribution
0.5 Discuss in detail the sources of public revenue
Q.6 Discuss the meaning of Deficit Finance What are the argument in favour and against of
Deficit finance
Q.7 Explain the factors affecting distribution of incidence of tax
0.8 Describe the effects of taxation on production, employment and distribution

PART-Il {Compuisory)
Q.9 Answer any Four MCQs of the following MCQs

{1) Food, clothing, and shelter etc. are goods
(A) Public (B) private (C) merit

(2) When revenue earned by a state is higher than it's expenditure it results in
(A) deficit (B) surplus (C) Balanced
{3) Modern state is known as
{(A) police state (B) Free state  (C) Welfare staie
(4) Defence service is
(A) Divisibale (B) Indivisible  (C) private
(5) Public expenditure is that expenditure which is incurred by the
(A) private individuais (B) Government (C) Industrialists
(6) How many ways of privatization are there?
(A} Two (B) three (C) Four
(7) The process of passing tax burden is called
{A) tax impact (B) tax incidence (C) tax shifting
(8) Tax on income earned by people is known as tax

(A) Direct (B) indirect (C) progressive
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